
26A 26825E

1) (X· 3)(X + 3) i i) (X· 6)(X· 4) 1) (X2 • 3)(X2 + 3) 1) X2(X2·9)
X2(X . 3)(X + 3)2) X . 3

2) (X2 . V2)(X2 + V2)
3X(X2·25)

X X+3
(X . V)(X + V)(X2 + V2) 2)3X·9 12) X . 6 3X(X . 5)(X + 5)X2·3X x X . 4

-4X + 24 3) 2X(X2 - 8)
3) 4X2(X2 - 1)

X2 9
X2. 6X

4X2(X - 1)(X + 1)
3) (X· V)(X + V) X2. 10X + 24 4) (X4 _V2)(X4 + V2)

(X2 - V)(X2 + V)(X4 + V2) 4) 5X(X4 -1)
5X(X2 ·1)(X2 + 1)4) X - V

5) 2X(X2 + 5X + 6) 5X(X - 1)(X + 1)(X2 + 1)X X+ V
13) ax + OV + RX + RV

2X(X + 3)(X + 2)XV - V2

5) -2(X2 + 8X + 15)X2. XV

-2(X + 3)(X + 5")X2 V2 6) 5X(X2 + X· 6)

14) $5,000,. 5X(X + 3)(X - 2)
6) 3X(X2 + 3X· 10)5) 2X2 + X R -8

3M 3X(X + 5)(X . 2)X + 412X3 + 9X2 + 4X - 8 7) X(2X2 + 11X + 5)
-(2X3+~ 50,000.;. 3 = $16,667 (rounded) X(2X + 1)(X + 5)

7) 5X(X2. X· 6)
5X(X . 3)(X + 2)

X2 + 4X
8) 3X(X- 4)_(X2 + 4X

8) X(X2 + 11X + 30)
0-8 15) $ 5,000,000,000,000

9) 2X(X2·9) X(X + 6)(X + 5)x .08
2X(X - 3)(X + 3)6) 2X2 + X $ 400,000,000,000.00

9) -4(X2 + 7X + 10)x X + 4
$ 400 billion in interest each year

10) 5X2(X2 - 4X - 5) -4(X + 5)(X + 2)8X2 + 4X
5X2(X - 5)(X + 1)2X3 + X2

10) -3X(X2 + 8X + 12)2X3 + 9X2 + 4X

4X(X2 + 4X - 12) -3X(X + 6)(X + 2)
:..]",

16) 300.;. 50 = 6 hours 11)
2X3 + 9X2 + 4X - 8 4X(X + 6)(X - 2)

11) 2X(X2 . 4X - 5)
2X(X - 5)(X + 1)7) 2X + 1

12) 2(X4 - 16)
17) 300 -i- 60 = 5 hours

2(X2 - 4)(X2 + 4)
12) X3(5X2 . X - 6)8) 4(102) + 4(10) + 1 = 441

2(X - 2)(X + 2)(X2 + 4)
X3(5X - 6)(X + 1)2(10) + 1

13) X(X2 + 5X + 4)
13) ·3X(X2 + 4X· 12)

x 2(10) + 1
18) 6.5 x 46 = 299 miles20+1

X(X + 4)(X + 1)
·3X(X + 6)(X . 2)400 + 20

400 + 40 + 1 = 441
14) 3X(X2 + 2X· 3) 14) X2(X2 + 3X· 4)19) 46 + 8 = 54 mph 3X(X + 3)(X -1)

X2(X + 4)(X· 1)9) 85 299 .;.54 = 5.54 hrs. (rounded)
85

15) X(2X2 + 7X· 4) 15) 4X(X2. 9)7225
X(2X - 1)(X + 4) 4X(X • 3)(X + 3)

(j)20) 4R - 32R = 36R + 8XR

I
0

16) 2X2(X2. 16) c

10) 59
R - 8R = 9R + 2XR 16) 4X(X2 - 4) -o·

51 1-8=9+2X
4X(X • 2)(X + 2) 2X2(X • 4)(X + 4) ~-16 = 2X, X=-8 .
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26C 26D

1) (X2 - 4)(X2 + 4) 11) 2(X2 + 2X + 1) X+l 1) X(X2 -9)
11) 5(XL9) X - 3(X - 2)(X + 2)(X2 + 4) 2(X + l)(X + 1) x X+l X(X - 3)(X + 3)

5(X - 3)(X + 3) x X+3
X+1 2) (10)3 - 9(10) = 10(10 - 3)(10 + 3) 3X - 92) (10)4 - 16 = (10 - 2)(10 + 2)(102 + 4) X2 + X X2 - 3X9984 = (8)(12)(104) 910 = 10(7)(13)

9984 = 9984 X2 + 2X + 1 910=910 X2 9

3) (4X - 3)(4X + 3) 3) (X2 - 9)(X2 + 9)
, (X - 3)(X + 3)(X2 + 9)

12) 4(XL81) X- 9
4) 16(10)2 - 9 = (4(10) - 3] [4(10) + 3] 12) 6(X2 - 100) X- 10 4(X - 9)(X + 9) x X+96(X - 10)(X + 10) x X + 101591 = (37)(43) 4) (10)4-81 =(10-3)(10+3)(102+ 9) -9X - 811591 = 1591 lOX - 100 9919 = (7)(13)(109)

X2 + 9XXL lOX 9919=9919
3X- 8 R 7

X2 X2 815) 100
2X - 1 R-11X + 21 3X2 - 2X - 9 5)

_(3X2 + 6X) X - 31 2XL 7X - 8
-8X- 9 -(2X2 - 6X) 13) (4)(110) = l1P

440=11P-(-8X-~ 13) 30 = (7)(6) -X- 8 40= P30=42
7 0= 14 ~3)

-11
6) 3X - 8 14) (5)(15) = 8Cx X+ 2 6) 2X - 1 75=8C

14) (2)(36) = (9)(X) X- 3 93/8 = C6X -16 X

3X2 - 8X 72=9X
8=X -6X + 3

3X2- 2X-16 2X2 - X
15) -5Y + 3 = 8Y - 4 (after dividing all terms-~

+7 2X2 -7X + 3 by lOB)
3XL 2X- 9 -11 3 + 4 = 8Y + 5Y15) 15 = 2500 - 440 7 = 13Y455 =2500 2XL7X- 8 7/13 = Y

7) XL 7X + 12 1.82 =0

Ll
7) XL3X+2

:i,'" ":'; x·,o 16) 207 - 90X = 500X + 83

X_4
i!'ii 16) -4X+5X=43+16 124 = 590X

X=59 62/295 = X

;,
17) .250 + .10D = 2.30 0+ D = 14X-3 X-2

17) 4 x 104 + 9 x 103 + 7 x 102 + 3 x 100
250 + 10D = 230

8) X -3 8) X -1 -100 -10D = -140
x X- 4 x X- 2 150 = 90 (6) + D = 14

-4X + 12 -2X + 2 0=6 D=818) .01 + .0005 = .0105
X2 - 3X X2 - X

X2-7X + 12 X2 - 3X + 2
18) 4.2 x 180 = 756 miles

9) 75 19) 12(N+l)+4(N)=9(N+2)+8 9) 9512N + 12 + 4N = 9N + 18 + 8
x75 7N = 14 95

19) 180 - 30 = 150 mph-- N =2 2,3,45625 9025 756 .;.150 = 5.04 hours (f)
0

I
10) 24 E10) 41 -o·x49 20) (2X)(A + 4) + (3)(A + 4) = 26 20) (X + A)(C + B) = :::J--- (J)2009 (2AX + 8X) + (3A + 12) 624 (X)(C + B) + (A)(C + B) I\)

eno,
I\)
en
0



26E

1) X2(X2 - 25)
X2(X - 5)(X + 5)

2) (10)4 - 25(10)2 = (102)(10 - 5)(10 + 5)
7500 = (100)(5)(15)
7500 =7500

11) (12)(8) = 72A
96=72A

11/3 =A

3) 5X(X2 - 9)
5X(X - 3)(X + 3)

4) 5(10)3 - 45(10) = 5(10)(10 - 3)(10 + 3)
4550 = 5( 10)(7)(13)
4550 =4550

12) 5Y = (20)(12)
5Y = 240

Y=48

5) 2X -7 R 29

X + 41 2X2 + X + 1
_(2X2 + 8X)

-7X + 1
-(-7X - 28)

29

13) -35Y + 55Y = 220
20Y =220

Y = 11

14) WF x 100 = 1
WF = 1/100

6) 2X - 7
x X + 4

8X -28
2X2 - 7X

2X2 + X -28
+ 29

2X2 + X + 1

7) 2X2- 7X + 6

15) 3 x 10-2 + 7 x 10-3 + 8 x 10-4

16) 2,000,000 + 60,000 + 1,000 =
2,061,000 '

(I h

X-2
17) 2(N) + 2(N + 2) - 5 = 7 + (N + 4)

2N + 2N + 4 - 5 = 7 + N + 4
3N = 12
N =4 4,6,82X -3

8) 2X -3
x X- 2

-4X + 6
2X2 - 3X 18) 442 -;.52 = 8,5 hours

2X2.-7X + 6

9) 25
25

625

10) 32
38

1216

19) 1 x 212 = 212 miles

20) (3X)(X + 3) + 2(X + 3) =
(3X2 + 9X) + (2X + 6)

27A

1) (X - 5)(X + 3) = 0

2) X-5=0
X=5

X+3=0
X =-3

3) (5)2 - 2(5) - 15 = 0
25 - 10 - 15 = 0

0=0

(-3)2 - 2(-3) - 15 = 0
9+6-15=0

0=0

4) X(X - 2)(X - 1) = 0

5) X-2=0
X=2

X-l=O
X = 1X=o

6) (0)3 - 3(0)2 + 2(0) = 0 (2)3 - 3(2)2 + 2(2) = 0
0=0 8-12+4=0

0=0
(1)3 - 3(1)2 + 2(1) = 0

1-3+2=0
0=0

7) X(X - l)(X + 1) = 0

8) X -1 =0
X=O X=l

X+l=O
X =-1

9) (0)3 - (0) = 0
0=0

(-1)3 - (-1) = 0
-1 - 1 = 0

0=0

(1)3.(1) =0
1 - 1 = 0

0=0

10) (2X-l)(X-3)=0

11) 2X-1 =0 X-3=0
X = 1/2 X =3

12) 2(1/2)2.7(1/2)+3=0
2(1/4) -712 +3 =0

112 - 7/2 + 3 = 0
0=0

2(3)2 - 7(3) + 3 = 0
18 - 21 + 3 = 0

0=0

278

1) X2+X-56=0
(X + 8)(X - 7) = 0

2) X+8=0 X-7=0
X=-8 X=7

3) (-8)2 + (-8) = 56
64 - 8 =56

56 = 56

4) (X - 5)(X - 6) = 0

5) X -5 =0
X=5

X-6 =0
X=6

(7)2 + (7) = 56
49 + 7 = 56

56 = 56

6) (5)2 - 11(5) + 30 = 0 (6)2 - 11(6) + 30 = 0
25 - 55 + 30 = 0 36 - 66 + 30 = 0

0=0 0=0

7) (X - 7)(X - 8) = 0

B) X -7 =0
X=7

X -8 =0
X =8

9) (7)2 - 15(7) + 56 = 0
49 - 105 + 56 = 0

0= 0

10) (X - 5)(X - 8) = 0

11) X - 5 =0
X=5

X -8 = 0
X=8

12) (5)2 - 13(5) + 40 = 0
25 - 65 + 40 = 0

0=0

(8)2 - 13(8) + 40 = 0
64 - 104 + 40 = 0

0=0

(8)2 - 15(8) + 56 = 0
64 - 120 + 56 = 0

0=0
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